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Complex Triangle Problems
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i. In the diagram below, RCBY and AA4BC are shown with mZ4 = 60 and mZABT = 125.
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2.Inth the diagram below of isosceles triangle ABC, ABwx CBand angle bisectors 4D, BF,
and OF are drawn and intersect at X, A
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4. In the diagram below, ALMO is isosceles with - \aS
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5. In the diagram below of AACE, B is a point on AC such that AADE is an equilateral iriangle,
and ADBC is an isosceles triangle with @ Find m£C.
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6. Given AABC with m£B = 62° and side AC extended to D, as shown below.
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7. In the diagram below, @ m/LSRA =40 ,and mLABE =30.Find m/BEA.
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8. In the diagram below of triangle MNO, £ and £O are bisected by MS and _OE,
respectively. Segments MS and OR intersect at 7, and mZW = 40°,
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9. In the diagram below, 4 bisects ZSAR @nd m£SRA =55 Find and
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10. In the diagram below, méOMiL 90, mLIAL =20, an@.ﬁnd mLl.
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11. In the diagram below, ADBC is an equilateral triangle and m/ADB =25 . Find
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13. In the diagram below, s 880 = 10I°, m4 = 50°, and mZDBC = 30°.

Which siatement is true? >
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14, Izﬁ the diagrarn of &BCD shown below, BA is drawn from vertex B to point A on DC,
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